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8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 389 Jllo H,,,=25. 38
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 390 J,;0= H;4,0=25.41
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Wavelength (A)
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 392 J,,,= H,,,=25.42
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 393 J,;;= Hy4,=25.43
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Object 394 J,,,= H,,=25.48

8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 395 J,;,,= H,,=25.48
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8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 396 J ;o= H,,,=25.50
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8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Wavelength (A)
Object 398 J,;,= H;,,=25.51
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 399 J,;.=  H;,,=25.52
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)
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8.0°10°

1.0+10% 1.2.10% 1.4+10% 1.6+10%

Wavelength (A)
Object 401 J,,= H,,,=25.56
8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
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8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



Flux (10" ergs s* cm? A™Y) Flux (10" ergs s* cm™? A™)
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 404 J,,,= H,,,=25.57
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 405 J,,,=  Hy,,=25.57
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 407 J,,o= H,,,=25.57
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 408 J,,,= H,,,=25.60
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Object 409 J,,,= H,,=25.63

8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
Wavelength (A)
Object 410 J,,= H,,,=25.65
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8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 411 J ;= H,,,=25.65
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8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Wavelength (A)
Object 413 J,,,= H,,,=25.67
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8.0°10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 414 J,,,= H,,,=25.69
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)
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Object 415 J,;;=  Hy,,=25.69

Wavelength (A)

8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 416 J,,,= H,,,=25.72
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8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 417 J ;0= H,,,=25.78
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 419 J,;,,= H4,,=25.90
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 420 J,,,= Hy4,,=25.97
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)



